CLASS D POWER SUPPLY SECTION

CLASS D AUDIO AMP. SECTION

Tout = 480mA for S5W Application
576mA for 6W Application AVCC PVCC GVDD GVDD output will be B/W 6.5V to 7.3v.
TP25 680mA for 7W Application  TP26 o Typical GVDD =
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- Make a 2 set of 100uf, 0.luf, and 1000pf set and place at pin no 15 and 27 076 R45 0E BSN1
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resistor instead of R46 = 4.7K and R51 = 1K Note utput Power Pout = Class D Output Voltage X Current across Load
10K 10K 1K~ resistor. And RS54 will be OE resistor If any fault detection event arrives, ILoad = Pout / Vout
GAINO GAIN1 30 K EN Number : 101-1-03543 fault pin will enter in low state and SD 6uW/10.4V
10K EN Number 101-1-00389 (shout down) pin also will arrive in ILoad = Approx 576mA
IRs2. s IRse Low stats snd Class D output will be TP28
Note : For 5W output mount R46 = 4.7K and RS1 = 1K 10
resistor instead of R46 = 4.7K and R51 = 1K
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GAINO GaINL AMP GAIN(DE) | INPUT IMPEDANCE (OFM) TEST CONDITION PLIMIT PIN | OUTPUT | OUTPUT VOLTAGE 1
VOLTAGE POWER AMPLITUDE (Vp-p)
VCC = 12 v, VIN = 1 vrms)| x 2 5 « 5 v 7 s v w0
0 0 20 60 RL = 4 Ohm, Gain = 20 dB 1.75 10 15.3 i gt — Tl Output Powar — W
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=1 vins, i
. N » 15 = 4 omm, Gain - 20 B 1 . 0.4 [ — k Figure 13. Supply Current vs Total Output Power
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